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3. WInT% f(p,¢,0) Favinuwile

(1) psing
(2)  p’sing
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b rax(y) pf2(xy)
QO = f f f h(x,y, z) dz dx dy
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d (¥ pfa(xy)
Q = f f f h(x, y, z) dz dy dx
c Jgg(x) J fi(xy)
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(1) 0

@) 1y
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7. (b-a)9 9 fanvinuwinla

(1 1
2) 2
3 4
4) 16
(5) 64

8. Wartu h(X,y,2) fawrirnuwinle
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(1) 8NN138819418 (simple)

(2) Fun1TuenNaILLT e (separable)
(3 a&lﬂ’liLaﬂﬁuf (homogeneous)
(
(

4) gUN1ILTILEW (linear)

)
)
)
)

5) RUNITULN BT (exact)

10. Talailunataasna bl (general equation) VBIRNANIAINE

(Y] il
(1) sin ;] In|{=c
_sinl Y| Zinlx =
(2) sm[x] In|x=c
y — —
(3) cos[;] In|x=c
_cos| Y| —Inlx =
(4) cos[X] In|x=c
(5) sec| Y tan[l]—ln|x|:c
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11. Wesn f(xy)=c nnlanddymilnds 10. Wunawaslitauss (mplicit solution)

a % 6 r__ y y 1 dl o v [
VOIRUMINTIBUAUS V' =S6C| - 1+ qamehn Cald f (X, y) = ciilunalassuasilyw
AN61961%

y'=s&(1j+i, Y ==
X) X 2

12. Wagan f(x,y)=c mnhm‘fﬂtymlu‘*ﬁa 10. Dunaas litauds (implicit solution)

- . . y y . 4.9 o .
maaawmummgwuﬁf y =SEC(; +; 99man Cavld f (X, y) = cilllunaaasaasilyn
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Y " A o a £ .
fnuald Y + 6y + 9y =r(X) lassuisudnfisusulsednt (undetermined

coefficient) azdinssuu@linaaasianz Y, atlugdladn

13. r(x) =12345e*

(1) yp = Ae3x
(2) yp = AXe3x

3) Y, = (A+ Bx)e™
4) Y, = (AX+ Bx?)e*
(5) yp = AXZGSX

o A B iiudaian

14. r(X) =54321e*
(1) Y, = Ae™
@ Y, =Axe™
3) Y, = (A+Bx)e™
@) Y, = (Ax+Bx")e™
5) Y, = Axle
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Y n A o a £ .
fnuald YY" — 4y + 3y =r(X) lewsudouinfisusuyszdnd (undetermined

coefficient) azdinsauu@linaaasianz Y, arflugdladi

15. r(x)=888xe™

(1) yp — Ae3x
(2) yp = AXe3x

3) Y, = (A+ Bx)e™
@) Y, = (AX+ Bx?)e*
5) Yo = (A+Bx+Cx*)e™
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16. r(x)=168xe™>
(1) Yy = A
@) Y, = Axe ™
3) Y, = (A+ Bx)e
@) Y, = (AX+ Bx*)e %
5) Yo = (A+Bx+Cx*)e™
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17. 236 F(s) Wa F(s) tdunisutasandane (Laplace transform) a4

f (X) = 46> — 3™
S
s*—7s+12
s-7
s*—7s+12
S
S +7s+12
s—7
S +7s+12
s
% +7s-12

(1) F(9)=
(2) F(9)=
(8) F(9)=
(4) F(9)=

(5) F(s)=

18. RIMA F(s) bE F(s) (dunsudasarans (Laplace transform) vas
f (x) =€ sin(2x)

2

s +4s+4
2

s’ —4s+4
2

S +4s+8
2

s —4s+8
S

PLr4s+4

(1) F(9)=
2) F(9)=
(3) F(9)=
(4) F(9)=

(®) F(s)=
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19. 29wen f()Wa f(x) dunrsudasardaswnis (inverse Laplace transform) a4

1
F(s)=—>———
(s) s?—4s+5
M f(x)=e>-¢e”~
e5x_e—x
f)=2—%
@) F(X 5

@) f(x)=e"-€"

e3x

e —
F=o—%
@) F(X) 5

5) f(X)=e™sin(x)

20. IR f(x) e f(x) Wunrsudadantasuni (inverse Laplace transform) Ua3

1
F(s)=————
(s) s*—4s-5
1) f(X) =™ -€e”~
e5x_e—x
f()=0—°
2) f(¥) 5
3) f(x)=e*-¢e*
e3x

e -
f(X) =———
4) f(x) 5

5) f(X)=e™sin(x)
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